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Question: The dimensions of a physical quantity ® dt are similar to [Symbols have
their usual meanings]
Options:
(a) Electric current
(b) Electric field
(c) Electric flux
(d) Electric charge
Answer: (a)

Question: In a resonance tube closed at one end. Resonance is obtained at length 1. = 120
100a Hz

cm and I: = 200 cm. If Vs = 340 m/s. Find frequency of sound is 8 then a =
Options:

(a) 12

(b) 15

(c) 25

(d) 17

Answer: (d)

Question: Six resistors of resistance R each, are connected as shown in figure. Find
equivalent resistance across points A and B.

Options:
(a) R/2

(b) R/3

(c) 2R/3

(d) 3R/2
Answer (a)
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Question: 2 plane polarized light waves combine at certain point whose “E” components
are

E: = Eo sinot. E: = Eo sin(ot + 71/3)

Find the Amplitude of Resultant wave.

Options:

(a) Eo

(b) 0.9 Eo

(C) 1.7 Eo

(d) 3.4 Eo

Answer: (¢)

Question: An object is placed below two parallel layers of thickness di, d: are refractive
index pi, p: respectively. Find apparent depth of the object.

Options:
dyp, —dypy
(a) iy

dipy +dypy
(b) ity

dypy +dypy
(c) HiHy

dypy —dyuy

(d) Hy o
Answer: (b)

Question: A lens of focal length 20 cm in air is made of glass with refractive index 1.6.
What is its focal length when it is immersed in a liquid of refractive index 1.8?
Options:

(a) -36 cm

(b)-72 cm

(c) -60 cm

(d) -108 cm

Answer: (d)

Question: A rod of length 5L is converted in L-shape as shown. Find the position of its
center of mass w.r.t origin.
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(d) (%%j

Answer: (¢)

Question: A composite sound wave is represented by y = A coswt . cos®’t. The observed
beat frequency is
Options:
w— 60'
(a) 2

(©) 27

o
(d) =
Answer: (d)

Question: MOI of disc about central axis perpendicular to surface is I then moment of
inertia of given assembly is, where each round object is of same mass and same radius.



(Given centre of round bodied and axis are planar).

Hallow
sphere

Options:
8,

(a) 15
»,

(b) 17

199,

(©) 30
),

(d) 32

Answer: (¢)

Question: Two convex lenses of focal length 30 cm and 10 cm are kept 10 cm apart.
Principal axis of the lenses is common. Find equivalent power of the lens system.
Options:

(a)5D

(b) 10D

(c)6 D

(d)13.33D

Answer: (b)

Question: Two rods whose lengths are in ratio of 1 : 3 and of diameter are in ratio of 2 :
1, then ratio of elongations of rod if force applied and material of rods are same
Options:

(a)l:12

(b)1:3

(©)4:1

(d1:1

Answer: (a)

i=5V2+ 10cos(650nt + %) Amp.

Question: AC current is represented by The rms value

of the current is
Options:

(a) V2 Amp
(b) 50 Amp
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(c) 100 Amp
(d) 10 Amp
Answer: (d)

Question: A charge particle moves in circular path in uniform magnetic field. The
graph radius of circular path versus its kinetic energy is best and represented by
Options:

K
(d)

Answer: (¢)

Question: Find the work done for the process shown in figure.




T
(b) 20
2
(c) 10
3n
(d) 20
Answer: (a)

Question: Match the two columns.

Column-I List-11
a. | Monoatomic gas (i) Y="17/5
b. | Diatomic rigid gas (ii) | y=4/3
c. | Diatomic non-rigid (iii) | y=5/73
d. | Triatomic non-linear rigid | (iv) | y=9/7

Options:

(a) a(i), b(iii), c(ii), d(iv)
(b) a(iii), b(i), c(iv), d(ii)
(c) a(ii), b(iv), c(i), d(ii)
(d) a(iii), b(iv), c(1), d(ii)
Answer: (b)

Question: Let A: be largest wavelength of Lyman series for hydrogen atom and A: be
;\’1

largest wavelength of Balmer series then My is
Options:

(a) 5/27

(b) 1/4

(c)3/4

(d) 4/9

Answer: (a)

Question: Two bodies projected with same initial velocities from same point with angle
45 + o and 45 - a. The ratio of their Time of Flights is
Options:
()1
I+tana
(b) l-tana

1+sin2a
(c) 1-sin2a
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1-tano
(d) 1+tana

Answer: (b)

Question: Two particles A and B are projected from a point on ground with same speed

at angles 45° + 0 and 45° - 0 with horizontal. If the times of flight are 14 3ndTg
TA
respectively. Then Ty
Options:
1+tan@
(a) 1-tan6
(b) 2 tanb
(c) tan 20
1—tan6

(d) 1+tan6

is equal to

Answer: (a)

Question: Two plane polarised light combine at certain point whose electric field

components are
AN

E, =E, sinoti
i} -

Find the amplitude of electric field of resultant wave.
Options:

(b) Eo
() 7Eo

(d) 37Eo
Answer: (¢)

Question: A variable force %= 2ti+3t" acts on a ticles of 1k hich is at rest
: particles of mass 1 kg, which is at res
at t = 0. Find the power supplied as a function of time.

Options:

(a) 2t + 3¢t°

(b) £ + 4t°

(c) +4¢t

(d) £ + 5t

Answer: (a)

Question: Find the current through the ammeter for the circuit shown in figure.
(Reading voltmeter = 4V)



Options:
(a) Il mA
(b) 7mA
(c) 10 mA
(d)3mA
Answer: (¢)
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Question: Find the dimensions of the physical quantity €o

usual meanings)
Options:

(a) M*L2T“A!
(b) ML*T A™°
(c) M'L2T3A™
(d) M'L“A™!
Answer: (b)

(Symbols have their



